After Hours - All those extra points are POINTLESS. 

By Ted Hopkins. Ted Hopkins is managing director of Champion Data.     
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 Sport 

 Three of the four tennis grand slams use the advantage set rule, but the extra games make little difference to a match outcome and may adversely affect the rest of the draw. 

 Should the Australian Open tennis tournament consider a new stopping rule? The deciding set between Andy Roddick and Younes El Aynaoui lasted two hours and 23 minutes. Their epic tussle consumed a total of five hours on centre court at Melbourne Park, delaying the start of the next scheduled match until nearly 1am. 

 And while the quarter-final was breathtaking for everyone concerned, Tristan Barnett, mathematician and sports analyst at Swinburne University ( www.swin.edu.au/sport ), has calculated the tournament's stopping rule was unnecessarily harsh on these players and arguably had a detrimental effect on the rest of the draw and final. 

 He explains that the advantage set rule at the Australian Open, French Open and Wimbledon "applies where the score is six games all in the fifth deciding set, and the match stops when a player reaches an advantage of two games". Roddick won the advantage set 21-19. Barnett's preference is the US Open tiebreak set rule. "Under this rule, when the fifth deciding set reaches six games all, the match stops when a player wins a 13th tiebreaker game." 

 Differences in stopping rules for the grand slams may appear rather technical, but they can have a significant impact on the outcome of a tournament, and unfairly scuttle a player's chances of winning the title. He says both Roddick and El Aynaoui contested far too many "useless points and useless games in a fifth set that did not affect the result of the match and subjected them to excessive and unnecessary exhaustion". 

 After such an ordeal, most commentators agreed that ninth seed Roddick would not recover sufficiently in time for his semi-final against Rainer Schuettler, seeded 31. Schuettler won convincingly in four sets. But the German was no match for Andre Agassi in the final. Had Roddick not been so drained by his quarter-final, the final might have been a competitive Agassi-Roddick affair. 

 Barnett's argument for containing the number of "useless points and useless games" played is backed up by his computer modelling. "Before the match I had Roddick winning 72 per cent of points on serve and El Aynaoui at 68 per cent. Both players have a relatively poor return, which means that it is extremely difficult for either player to break serve." His predictions showed Roddick winning 92 per cent of his service games and El Aynaoui 88. There was a 35 per cent chance of them reaching 6-6 in a fifth, and a 2.3per cent chance of 19-19 not as rare as you might imagine. 

 The match statistics on service are remarkably close to Barnett's modelling and expected outcomes. Applying these statistics to the tiebreaker set rule of the US Open, the model shows Roddick has a 73.1 per cent chance of winning the match compared with 73.8 under an advantage set rule. "Why subject players to extra points and games that do not materially affect the chances of either player winning?" Barnett asks. "A more reasonable stopping rule could give the winner a decent opportunity to recover for the next round." 

 His analysis also throws light on why Lleyton Hewitt did not advance beyond the fourth round, losing to El Aynaoui. While Hewitt was the top seed and declared a clear favourite, Barnett ignored the ATP rankings and hype and calculated that the young Australian had the second-highest chance of winning the title. Roddick was ranked third, but Agassi's chances of winning were much higher than Hewitt's and Roddick's combined. 

 Hewitt's first-serve career average is 51per cent, well below the 59 per cent ATP player average. Against El Aynaoui it dropped to 47per cent. Former champion John McEnroe reckons Hewitt should slow down on his first service, go for placement and get his average up around 60 per cent. Otherwise, there's too much pressure to make a good second serve, "when you have to hit too many". 

 It's hard to argue with McEnroe and it's hard to argue with Barnett's logic when his computer program correctly predicted the outcome of 72 per cent of matches played at this year's Open. 
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